Larson nomogram:
cumulative probabilitities for the binomial distribution
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This nomogram gives the probability of having x or less successe; a X ~ B(n,p) binomial distribut (1) Mark the p point at the axis
the left. (2)Th lo kf the dg and n lines on the lg ph and mark the t interesecting bot hl ()Dawa
ight line between (1) and (2) nd extend it to the ax the right. The cut-off point in that a the P[X z] probability. If the lin
is off the axis, the probability will be bigger or smaller than the last value.
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